1) The joint PDF of two random variables X and Y is given by

b’y for0<z<1,0<y<]1
0 otherwise

fxy(z,y) = {

Calculate P(Y > 0.5 | X = 0.5).
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2) Let the joint PDF of two random variables X and Y be given by
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0 otherwise

1 .
Calculate P (-g <x < 3 \ Y= 1 . Enter the answer correct to two decimal places.
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_ 3) Let (X,Y) ~ Uniform(D),where D := {3X >Y,0 <z < 1,y > 0}. Choose the correct option(s) from the __

following:
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4) Let (X,Y) ~ Uniform(D), where D := [0, 2] x [2,4]. Choose the correct option(s) from the following:
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5) Let the joint PDF of two random variables X and Y be given by

ye Y@t forz >0,y >0
0 otherwise

7 fxv(z,y) = {

Find the value of P(X | Y = 1).
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